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Assignment Booklet

	
	Module 8: Lesson 7 ASSIGNMENT

This Module 8: Lesson 7 Assignment is worth 19 marks. The value of each assignment and each question is stated in the left margin.


	(19 marks)
	Lesson 7 Assignment: Populations and Communities Changing Over Time—Succession


	(11 marks)
	Part 1—Clear-Cutting Versus Selective Logging Practices 

This part of your assignment involves a comparison of two forestry practices that harvest trees for pulp and paper and lumber: clear-cutting and selective logging. Research these two practices through the Internet, library, government agencies, or other credible sources of your choice. Answer the following questions using the information you have gathered.  


	(2 marks)
	1.
	Describe the difference between the two practices of logging.



Answer:

	


	(1 marks) 
	2.
	Which of these two practices results in a new succession?  



Answer:

	


	(4 marks)
	3.
	What are the advantages and disadvantages of clear-cutting and selective logging?



Answer:

	


	(2 marks)
	4.
	When a mature climax lodge pole pine forest is clear-cut and replanted with only pine seedlings that will grow into pine trees (pine is the product for sale), how does this affect the natural secondary succession? What is the effect on biodiversity?



Answer:

	


	(2 marks)
	5.
	When clear-cutting occurs, how does this affect the animal community that last inhabited the area? When clear-cuts are replanted with replacement trees only, how does this affect the animal community there? 



Answer:

	


	(8 marks)
	Part 2—Controlled Burns


	(2 marks)
	1.
	List the positive and negative roles forest fires play in nature.



Answer:

	


	(2 marks) 
	2.
	Conduct an Internet search to find out what a “controlled burn” is. Controlled burns are typically carried out in National Parks. State two reasons for controlled burns.  



Answer:

	


	(2 marks)
	3.
	In the past, sometimes Aboriginal Albertans would purposely set prairie fires in the spring in a type of “controlled burn” in order to begin a secondary succession. Explain why this was done, and why this practice is no longer done.



Answer:

	


	(2 marks)
	4.
	One of the first species to colonize burned forest is fireweed, a plant that makes a tall stalk of fushia-coloured flowers. Conduct an Internet search to find at least two traditional uses of this plant by Aboriginal peoples.



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



